1. mmﬁﬁw@'m’lﬁﬁm%mwﬁfﬁwﬁfﬁ
e P T 1 90 e 9 o e 7
(1) T
@) e &
" 3) s &
@) T &
(5) ST < =

- nwm%mﬁﬁﬁwrﬁaﬁ:a'%mﬁm
S o N i

) TR \
(2) SEEAE ! g

. Where is the National Gallery of Mot K
. located ? | _
' (1)~ New Delhi
(2 Kolkata
@) Mumbsi
il @) Nagpur
L \‘(‘5)‘ Not attempted

(4 Indore

3. Which of the following is net part of the

Al Panchayati Raj system in India ?
(1) ' Zila Parishad

' (2) Gram Parishad

 (3) Gram Sabha

(@) Gram Panchayat

i (5) ' Not attempted

Whom did India beat in the Finals of

11120233

When nat
forms thrlgf;alﬁ) Toducts gy cha
gh ways of p Nged int,
known as : ANUfacfy i Other
8 it ig

(1) Tertiary sector
(2) Industrial Sector
(3) Primary sector
(4) Secondary secty;
(5) Not attempted

In which district of ),
Khajuraho Group of Moy,

(1) Chhatarpur
(2) Jabalpur
(3) Gwalior

hya pr
adesh, 2
ments locateq ? y

(5) Not attempted

Asiat

One Day Cricket Tournament held in f

(1) e | (1) Sri Lanka
(2) AU : (2) Nepal
) ‘Wﬁﬁ (3) Pakistan
) (4 Bangladesh {
(5) SWAIITNART (5) Not attempted ///
HANTV/F2 |/ ws;#ré%sﬁa‘ﬁzm/smcﬁonnoueﬁwonx Pag
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6.

8.

g T 7 o o ¥ I Hee & g S

6. In which year did the United Nations adopt
wﬁmﬁé&ﬁaﬁ AT the UN Guidelines for Consumer Protection ?
(1) 1985 (1) 1985
) 1990 (2) 1990
(3) 1986 (3) 1986
4 1987 (4) 1987
() ST TR S e (5) Not attempted

N e fer §2 7. Where is Salar Jung Museum located ?
(1) -ERI{ (1) Mysore
@ = (2) Goa
(3) S (3) Bhopal
(4) TR (4) Hyderabad
(5) ST < W (5) Not attempted ¢
Qe Wil & SR H frefefed o WiT=R | g, consider the following statements about
TS| T T HI T T 8 2 Democratic Governments. Which statement
(1) T AR S 6§ H is'not corrcct
Fﬂ?lT%‘I (1) Democracy is also known as
3 45 - representative democracy
@ S mﬁwﬁ il (2) Democracy guarantees universal adult
2 franchise
(3)  iIehda | TR <h 19 et whi et e (3)  In democracy people have power to elect
S SAUFR B T | their leaders
a3 ohl SToYd o 9 H ot GTHTE'IHT %\ .(4)' Democracy is also known as Oligarchy
(5) Wl o 9ed (5) Not attempted
9. T=E H ‘Hien U’ = ] AT 8 ? 9. Why Earth is called the blue planet’?
(1) =ifr 398 Siem B (1) Because it has life.
@ wi® Jest w1 91 Wi J a1fies Tﬂ'“ﬁ -g (2) Because more than 91% of the Earth is
covered with water.
eI 2 | i ;
@) =i s e (3) Because it is blue in colour.
{ (4) Because more than 71% of the Earth is
() RIIE2 1127;1"( 1 71 Jiw ¥ e T | covered with water.
- \
AT 7 ) (5) Not attempted
(5) =R W =R |
10. In which year did Gandhiji arrive in India fro
10, TS gl TRl @ WRa H fFw 9§ o e South Africa ? ¥
37 . (1) 1917
/(Jf 1917 (2) 1921
e 1921 3) 1907
i 1907 i4; 1915
(4) 1915 o i i :
t att t
'H‘A%S.LW ';lﬁ a:n -a-ma ot attempte
NTV/F2 T T o ToTC 2&Tel | SPACE FOR ROUGH WORK
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wfenall g wern s ¥,

TS B et B 2
(1) e
(2)  orat
B e
4 T
(5) ST 4 e
16. ¥ T W et e A A €1 A 7w 9 E
| apRm: e ¥ :
(1) SeEE
(2) 3T A A
A
4) &=
(5) W TR <A1 =R
17. T 3 TR 6 WA A S ©
(1) 98.4°C T
4 98¢
(3) [352a
@ IBDE
(5) SR el & =ed
18, e & & i T 3 o T H HEE
22 He .
(1) i
2 e IEiC oL
3) ferdredfer

4) T T HITRT
(5) TR & AR

Jo. it i e T A B 2 |

15.

16.

17.

18.

19.

Khabar Lahriya, a newspaper Tun by ci'ght
ot diﬂtr]ctv

Dalit Women in Chitrako , i
Uttar Pradesh, comes out in which loca

language ?

(1) Pishoni
(2) Awadhi
(3) Bundeli
(4) Tulu

(5) Not attempted

The substances which turn red litmus into
blue are in nature.

(@ N eutral

(2) Acidic or Basic
(3) Acidic

(4) ‘Basic

(5) Not attempted

The normal temperature of human body is :

(1) 98.4°C
(2) 98°C
[@)lliss°e

Sl 37rC

(5) Not attempted

|

Which of the following helps in clotting of
blood ?

(1) Platelets

(2) White Blood Cells

(3) Haemoglobin

(4) Red Blood Corpuscles
(5) Not attempted

Which is the most common carrier of
communicable diseases ?

(1) Gl il (1) Dragonfly

(2) =i (2) ' Ant

(3) ’Eﬁk_’l\m (3) Housefly

(4) FAHFE! (4)  Fruitfly

(5) o AE & AT (5) Not attempted 1
HANTY 72 2t e 3 178 22171 / SPACE FOR ROUGH WORK Page 5
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20. 3 &
ERLERIR T fagry ax o & g St & 3% 20. Species found only j
T T known as : B 2 o,
(1) e (1) Endangered ”
2)  wrfrem (2) Endemic
@) g T
(@) (g) Ilix;c:mft
) wl Eﬁ:ﬁ'_ N (5) ot attempted
21. frsforaa § § 8161 1 99T Y & (Sljleal:; B from ¢,
(1) d= (2) Sodium '
(2) WifeFm 48) Sulphur
/(3) oL (4) Copper
(4) e (5) Not attempted
(5) SuEl &
i . 22. Match the items given in ¢
22. eHTEM- 13 U T A} 1 R - 1 H g T At e B0 a
Ty gaferd SIS | :
I X (A) Chloroplast (I) Len
(A) FANEIEE I)  TRGIQR e (B) Rhizobium (1) ng'
®) () TS e (C) Cuscuta ) Lt
(©) ﬁT;T (I11) I (D) Pitcher plant  (IV) Ins
[13) 8¢ ' lant
i i A7) e e Choose the correct options bfl:y
Iaaeq_ g ; (1)  (A)-1), (B)-(11), (C)-(IV), (D)
(1) (A)-am, B)-@), ©)-aV), (0)-0 p!
0 aim, @m, (€. oy ) R (T, (10D
@ (A)-), (B)-0), C)-), D)-1V) EEREREREO). (-0, D
@)  (A)-ID, (B)-1), (O-0), (B)-1V) (@) (A)-(1D), (B)-), (C)-1), (OH
23. @wed-18 few g ASi ! hTeH - 1L # fmmumer | 23 Match the items in Column - 17
% ey At HIIg : Column - II :
. T (A) ’I‘ypIh V'H
oid @ Vi
(A) I (B) Hepatitis A ay
B z 1) G R (C) Malaria () B
()., 7 1) ST D) Wheat rust (V) P
(D) ﬂ'ﬁﬁ V) TrRISe Choose the correct answe’ g
ﬁmmmﬁﬁaﬂwmwaﬁf‘w; below : ,
1) (a)-un, B)-D, (©-0V), )0 @) (A)-mm), @)-a, ©-1) P
2) (A)-0), (B)-011), (C)-(11), (D)-(IV) @) (A)-@), (B)-(111), (C)-(D; (-
@ ()10, (B)-0), (C)-(111), (D)-(IV) ) (A)-1), B)-(1) (©)-(11D), (O
(A)-(111), (B)-(), (€)-(IV), (D)-(11) (4) (A)-(III’ B, (C)-IV) (D
Ti'é’f'a:n'ﬁl?a )1( )—(I)’( )( 4
e (5) FH (5) Not attempted
HANTV/ F2 2t 1l o fe1C Z21TeT / SPACE FOR ROUGH WORK
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If a body covers 100 km in 5 hours its speed

: e 24.
24. ﬁﬁwﬁglookmaﬁﬁsaﬁﬁmm%eﬁ kg
5{:@" TR |
NIRRT _ (1) 20 km/hour
A1) 20 TR /5 ' (2) 500 km/hour
(2) 500 fRH. /= (3) 20 meter/hour
(3) 20 die/s (4) 20 centimeter/hour
(4) 20 Y/ w (5) Notattempted
(5) SR TE o = |
25. . Which is the best conductor of heat from the
25. ﬁmﬁf@aﬁ@ﬁq—mmmmmw%? following ?
(1) = (1) Silver
(2) Aluminium
(2)  ITgHIET
(3) Wood
B (4) Kerosené
m - (5) Not attempted
(5) SR T & 9Ed
: 26. Night blindness is caused due to the
26. ta*ra%______ﬁmﬁaswzﬁr%l Bl e b
(1) feefmc (1)  Vitamin C
(2) feafD (2) Vitamin D
(3) foafA (3) Vitamin A
4 fofEB  (4) Vitamin B
(5) TR IMARE (5) Not attempted
o7. fao=zaayg Afcrertat gﬁeﬁa% ¥ Tegm @ GiE oar | 27.  Cockroach breathe through network of air
3 o2 R tubes called _
(1) fa-@ﬁ (1) Diaphr_agm
@) & (2) Stomata
d (3) Gill
TARS! :
W (4) Trachea
), & ' (5) Not attempted
(5) ST <A R :
28. freAfefEa 3 @ i e & Wi T 7 28. gi,:ei;?e o;' the following is not a deficiency
: /6 el ' (1) Goitre
(2) A (2) Scurvy
(3) eiicell (3) Anaemia
4) weE (4) Malaria
(5) I ST =T ~ (5) Notattempted
HANTV / F2 2% 1el & 17U et / SPACE FOR ROUGH WORK Page 7
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29. Twfefea ¥ @ oy W IR & 1 1 femm 2 29. The planet which appears reddish in coloy,
(1) is :

) ,(1] Venus
(2) Mars

3

(4) Aisl (3) Earth

SN (4) Mercury

(5) S TEl IR

(5) Not attempted

30. e - 1 fy o w9 whvem - 10, few o e

30. Match the items given in Column - T wjt,
& W Eﬁ[\aﬂ Cog thecl)se in Column - II : :
I- (9= 3i) II - ( feram) I - (Digestive Organ) II - (Process)
A) BT (A) Small Intestine (I)  Chewing of fooq
:B: = 3113\ E::m (B) Large Intestine (II) Churning offoqq
S X 1 foreire (C) Stomach (IlT) Absorption of
© SR N (II) IS 1 e food
(D) IV) e &1 o (D) Mouth (IV)  Formation of
& e 3fre : faeces
(1) (A)-(m), (B)-(V), (O)-(I), (D)-(1) Choose the correct options below :
C./@/ (4)-(1), (B)-(V), (C)-(1), (D)-(1) ‘ (1) (A, (B)-IV), (O)-(1), (D)-(11)
()  (A)-av), (B)-(I), (C)-), (D)-(I1) (2)  (A)-@m, (B)-v), (C)-(1), (D)-(1)
(4)  (A)-0v), (B)-[), (O)-(1), (D)-(11) () (A)-v), (B)-(I1D), (C)-(1), (D)-(11)
(5) SWTE o dRd . (%), A)-v), (B)-(1), (C)-(I1), (D)-(11)

5) ‘Not attempted
31. YT 3R 39 a1 < Freewd (1) st () o

& T ol 1 W A LR S O 96 A9 | 1. Two statements are given, followed by tw
¥ fum & == 7 wdta e &, fvl ¢ o e ) conclusions (I) and (II). Assuming th

o o T ot 25 ST R e 5 e - vements to be frue even if they seem o
2/ frperd €1 at variance from the commonly known fact
/ ; decide which of the conclusions logicall
T : FB Fd WBleAi 3 | follow(s) from the given statements.
59 qgf\?ﬂﬁ'q&ﬁ%I Statements : Some dogs are fishes.
o m FOFUUERE o Some fishes are birds.
m  FEEEE onclusions: (1) Some dogs are birds
. 1 3 gS.
(1) o (1) s o) S e # (1)  Both condl R s e 0
usions (I
7 1 ferd (1) &R A € (1) e @ Neith i (1) and (m) follow
: TS €T conclusion (1) nor (I1) follows
(3) e e (1) | () Only conclusion (1) follows
(4) aa T (1) Fehaa &) (4} Only conclusion (IT) follows
(5) B TR &l Hed (5} Not attempteq
HANTV / F2 7% T & foft 22T | SPACE FOR ROUGH WORK page?
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32. 9 fawcy o1 v B S TR I A W YR Haftm

2 O S0 1< RS T § g 1
W:W@ﬁﬂl::@;ﬁ?w_
(1) W
(2) CREES
=
4 =T
(5) S TR o =R
33. foud o1 =99 i)
(1) Ten
() @@
() IR
FHiat
(5) ST T =Aw

34. < SISH PR 3 TR A svorer s § fean

T Seasl ¥ 39 HANH 1 99w e SR
31&R] Rl HaEerd it TR Teh STgu eg o |
. NS S AT G
e 2k 3 GbAE 58 5i6
(1) 3,5,4,2,6,1
2,6,3,1,4,5
@) 5,4,2,1,6,3
4 3,5,6,2,4,1
(5) SR T < ARd

35, fz UF Fifda FEOS F MUSSOORIE’ i

‘OTURQNTHG’ fer@1 vl 2, il SHt esmT |
DELHI’ &1 =71 feran s ?

32.

33.

34.

35.

Choose the option which is related to the thir‘d
term in the same way as the second term 18
related to the first.

Mosquito : Malaria : : Rat: __ 2

(1) Rabies
(2) Typhoid
(3) Plague
(4) Dengue

(5) Not attempted

Find the odd one out.
(1) Sparrow

(2) Parrot
(3) Pigeon
(4) Kiwi

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

Lt N frids BGRA BRI g
a0 AagEEA s
1) 3,5,4,2,6,1
2 2,6,3,1,4,5
@) 52 ILGS
4 3,5,6,2,4,1
(5) Not attempted

If in a certain code language MUSSOORIE?’ is
written as ‘OTURQNTHG’, then how will
‘DELHI’ be written in that code ?

(1] FCNFK (3} FCNFK
(2) FCNGJ (2) FCNGJ
()}) FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK
(5) JM 7 21 =ed (5) Not attempted
HANTY | F2 2% @i % feTe 22 | SPACE FOR ROUGH WORK e
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A*BH SR ‘B, Ao
ASBH a4 g ‘A By yeh &)
A# B3 ‘B,Aaﬂgﬂ%’l
ARPSQ*R# Y, B A% feom T T B

36.

Tl 82

M
@

(3)

=

37. 9T Yo ¥ gu ©

125,

(1
Q)
B

(4)
()

38. %‘rﬁmmmvﬁaﬂﬁ#ﬂaﬁﬁ%aﬁma&m
24 m ST € 3% SIS 9 3794 S1¢ gt ¢ iR 16
m = §1 T 98 9 91 GIR 24 m el 2 |

e 31a 319 TR foig & ferdt 5T qen ferg fowm

i%?

1
<}

@)

()

39. @EfEP, Q,R, S, T U IHH XYL HTh Th
i & w2 ¥, B v Tl § o SH A A A
pr o ard iR R H AR Q) T H T AR
% ami § el S, U H A SR R 1 Q) o e

R, Q % fim &)

S, Q I WdflsT ¥

S, PFI
R, P& HE ¥ |
ST TR < 3ot

25, 5,

1
-2

2

—1

I T8 o =Rl

?

)

4
5

40 m, 3t

40 m, =M
32 m, ST
48m,qﬁi’q
S TR S =R

?

%l J SIS
L
125

37.

2
DS

38.

39.

N

Read the following information to answe, .
question below : :
A * B means B is the brother of A’

A $ B means ‘A is the wife of B’.

A # B means B is the son of A’.
FP$Q*R#S then, which of the followip,,
statements is true ? d
(1) Risthe father of Q

(2) Sisthe nephew of Q

(3) Sisthe son of P

(4) Ris the father-in-law of P
(5) Not attempted

Find the missing term __ ?  in the series

1

12589 SRS =’ 95’ 125
1 1

2 -2

B 2

() S

(5) Not attempted

Sarita walks 24 m towards West, then turns
to her right and walks 24 m and then turnst
her left and walks 16 m. Again she turns
her left and walks 24 m. How far and in which
direction is Sarita from her starting point?

(1) 40 m, North
(2) 40 m, West
(3) 32m, North .
(4) 48 m, West
(5) Not attempted

Six friends P, Q, R, S, T and U are standing”
a row facing North but not necessarily in ¢
same order. P’ is to the left of T and to 1
right of R”. ‘Q’is on the right of “T° but to i

left of i >

) i gbiu\::g;%t% the left of ‘U”. Who ar¢
(1) THRS () Tands

(2) B3R () PandR

(3 TH#RU ) Tandu

(4) PpemT 4 PandT

(5) AL & =R (8)  Not attempteq

HANTY / F2 2% @12 & [e78 2iret / SPACE FOR ROUGH WORK page !
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40 Rt & safes frdt 981 ¥ R METIR ! §1 | 40. Priyanka’s birthday falls on the third Friday
: of a month. The fourth day of that month is

St e 1 = T wEI W el S & | et the first Monday of the month. What is the ¢
F Sfed o fedie &= 82 date of Priyanka’s birthday ?
(1) 22 (L) et
@ 15 () 15t
23 (8) 128
4) 21 G
(5) W T2t 1 =ed (5) Not attempted

41 (O 5x0 5+05_5)W%‘: 41. (05><05+05—5)1sequa1t0

(1) 0.35 (1) . 0.35
(2) 0.45 (2)3E50:45
3 0.15 ()05
0.25 4 0.25
(5) W &l < 9 (5) Notattempted
42. TSNS 2p, 5 pAN 7 pH L.CM. 3. 42. ’iI‘Sh:e L.C.M. of three numbers 2 p, 5 pand 7 p
(1) 75p . 1 75p
A 700, (@ 70p®
Sp , @) 70p
(4) 65p s,
) T < =T ' (5) Not attempted

1 - 43. For which sum, the simple interest at the rate
43. TG TR 3%%aﬁa:aza 22 1 P

3 1|
of 32% per annum will be ¥ 210 in 27 years ?

ST 21087 3
A %2,800 ' (1) 2,800

(2) %2,500 @) 2,500

(3) %1,580 @) 21,580

(4) %2,400 @) 22,400

(5) T A e (5) Not attempted

44, fz o qa b faA quife g afmAd HHE-TTAd | 44. [faand b are two distinct integers, then which
%7 of the following is incorrect ?

(1 a+0=0+a=a (1) a+0=0t+a=a
(2) a-0=a#0-a (2) a-0=a¥0-a

e Laabia (3) at+b=b+a
(4) a-b=b-a

/(91) a-bh=h-a
(5) SELAE & =ed (5) Not attempted
HANTV/F2 < @@ % fe10 zar | SPACE FOR ROUGH WORK

" Cetharyana.in




R

45. T Hwy e
Y & WﬁWWﬁWMWﬁ; 45. A certain number is (li"vi(luci Into twyg "

: I &% o) ‘I'?TE\TW I & 11 T S such that 5 times the first part aclele |(,'|:.
& 55 7 T 9IS gay T 1T times the second part makes 7 timey IIH |
TR B 9Re <h1 ?ﬁ am 9 number. The ratio of the first pary to Y
AR :2 second part is : the

: g
@, 2:3 QI
Qe 2 1e
2:1 (
4 5:11 () o
; il
5) @ 5
) T S (5) Not attempted
9‘@" T 3Ty @ﬁ H&T & 65% % TR §1 | 46. Half of a certain number is equal to g5, i
Tl T I @ﬁﬂ'@ﬂ q ST T the second number. The ratio of the firg
Wi issye number to the second number is :
@) 13:10 (1) AL
(8)~10:13 (2) 13:10
/W/ 8:13 (3 10:13
(5) S| TE T = (4 8:13
(5) Not attempted
47. 10 mx 10 mx 5 m fommsif aret oy & vt w1 gy
el Tl | T BT 9w 47. The length of the longest rod that can be placy
: in a room of dimensions 10 mx 10 mx 5 mis:
(1) 1042 m
B (1) 10v2 m
5v3 m
' 2  5/3m
B 15V3m
@) 15m @) 153 m
(5) SR TE o e (4) 15Sm
(5) Not attempted
48. fofaa ol §, T 800 i TRT 10% Atk Tehafg =t .
1 <, % 926,10 & SR T 29 9 gy | 4 7 how many years will a sum of ¥ 800 at 10%
e B 2 Per annum compound interest, compounded
! semi-annually become ¥ 926.10 ?
: ] i
) s (1) 2% years
: 3
1 1
28 2o @) 25 years
1 1
T © 13 years
4) 1L o 1
2 ai ) 5 Years
(5) S AL <A () Not attempteg
HANTV /F2 < el & fo70 et | SPACE FOR ROUGH WORK oo
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= s s fiysqor W 7Y AV A ar | 49 20litres of a mixture contains milk and water
ARl 2° sisa e ﬁ‘ﬂ i g e . in the ratio 3 ¢ 1, The amount of milk to be
S 3 AR fiysmn H o i R L “"1' added to the mixture so as to make the ratio
Wwaﬁmm 1 e ? 4:1,1s;
1y 5 ot (1) 5 litres
(2) O litres
Ll (3) 7 litres
. (4) 4 litres
[ e EitE { (5)  Not attempted
(5) S E & e
. O OV 001 o
50. Simplification of S %01 4002 gives .
0.2x0.2 +0.01 _ _ e .
| T A TR, WIS @
0. 0.1x0.1+0.02
1) i
1/ 41 (! o
./1/1 9
2} 4=
(2) g
: 5
5 g
DS
41
41 (&) BT
@ 13
(5) Not attempted
(5) W TR o =
4
4 51. If the selling price of an article is 3 times its
51. Eeil \CETR IHE A bl = :
2 S S S 3 o cost price, then the profit % in the transaction
%, 1 39 W H ) Wi € is :
1
1) 25:% (1) 255%
2 332% @ 331%
i 34 3
2
(3) 16%% (3) 16-5-%
@ 2019 4 20=%
/ B ;
. (5) = A = = (5) Not attempted

HANTV / F2
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D ST

] ’
52. ATE TR ) K 10%,:{1?{3;;%%’ B 3t 82 Ac(-me%oraworkm 10 days, Bcanclr).h
T T 40% T ey § .
20 f& o @ wfer ¢ vt
. I
1 . g in 20 days and Ccando .
a?rﬁmgumlsﬁﬁﬁmm%|ﬁﬁﬁaw SHETRE EHi )
. work in 13 days. Who can complete the
E{)mﬁmwwﬂmm%? work in minimum time ?
o .
, (1) €
AT
- C 3 2)  AandC both
@ B @ A
: 4 B
(5) SWAH
e (5) Not attempted
53. IR (a+b) : : =6 :7:
b(a b) gb?;r‘(:) § (C+a)—6 e & BHQ'TT 53. If (a+b) . (b+C) : (C+a)=6 H 7 " 88.‘
atb+c=14% Wc¥: a+b+c=14,thencis:
(1 8
(1 8
2
:3; :‘ : 2 14
" B) 6
) 4 7
(5) SR TRl < =R -
(5)  Not attempted
54. A, BT C A fHee T =R ¥ % 50,000 T | 4. A BandC . ,
A AT B AT 4,000 FFFAMANBICH | o aoe o together invested ¥ 50,000 i
4 _ usiness. A invested ¥ 4,000 more than
¥ 5,000 34k TIC, @ T 35,000 & Fe A9 H and B invested ¥ 5,000 more than C. Outo
AH VTR total profit of ¥ 35,000, A received :
] 213,600 (1) 213,600
@ 214,700 () %14,700
(3) ¥8,400 (3) 8,400
4) T11,900 (4) 11,900
(5) I 7{%’1 a":ﬂ ?ﬂ'b’ﬁ ) Not attempted
55. U FR 1 wehe F 20 Hie Few ¥ fH/TI A | 55, A car goes 20 metres in a second. Its SP°
8 8 econd.
g d In km/h is :
1) 36 (1) 36
@2 20 (2) 20
72 . 4 72
(5) ST A1 Aed (5)  Not attempteq
HANTV F2 o e & fere 22 / SPACE FOR ROUGH WoRy -y
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6. Choose the alternative which best expresses

the given sentence in Active Voice.
will be sent today.

The invitation cards
)/Y]/They will be sending the invitation
cards today. ‘

2) They will send the invitation cards

today.
3) They will sent the invitation cards today.

4) They will have sent the invitation cards

today.
(5) Not attempted

7. Choose the most appropriate alternative to fill
in the blank. ’

The noise comes from the river.
(1) over
((ZI across
(3) against
(4) Dbesides

(5 Not attempted

8. Find out the correct indirect speech of the
following sentence. : -
He said, “Do you know German ?”
(1) He asked me if I knew German.
2) 1 asked him if he knew German.
/(,3‘]' He asked me to know German.
(4) He asked me if he knew German.
(5) Not attempted ;

9. Find out the part of the sentence which has

61. Pick out the synonym of the underlined word
in the following sentence.
The cellphone industry has ushered a new
phase of communication.
(1) heralded
(2) _collapsed
~ completed
(4) given up
(5) Notattempted

Fill in the blank with the appropriate option

given below.
If you no confidence in self, you

are twice defeated in life.

62.

/(/I‘I have
(2) having
- (3) - has
(4) hadnot

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

63.

caught red handed.

(1) _Caught very late
" Caught while doing the crime
(3) Caught sleeping
(4) Caught easily
(5) Not attempted

an error.
If he is a millionaire  he would help 64. Pick out the correctly spelt word.
: (a)- . (b) '/(,;)" minipulatiop o
the Millennium Project in the future, - ES; manipeulation
(c) d) manipulation
1) (o ; (4) menipulation
2 (@ (5) Not attemp-ted :
(3) (a) :
@y (b 65. Choose the most appropriate option to fill in
5) Not attempted the blank.
Many beggars sat the wall of the
0. Find out the antonym of ‘absurd’. temple.
(1) = sane (1) ?.long
‘}2() refuse 2y in
(3) silly (3) on
) anxious (4) Dbesides
5) Not attempted (5) Not attempted
HRNTY
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66. freifafia _
g Pt e 3 for fr a1 v
(1) Toreft W ; o =i o o
@ @WW%WWI
@) wRarsig, & md &
M T | e e
(5) W 9y

67 S A & &' e 3o o
MWWW%:
A fovawiig

() fovareRr

(3)  fovargam

4) fowar

6 SEHTEE
68. ‘ﬁﬁwmﬁ%ﬂﬁw%.

.

71. ﬁmﬁamﬁﬁﬁﬁwwﬁwmi
()

(2) =

6 e
(5) T TEI A A

72, “Sef ST Wi A Tl 3§

73. e O o R A g 22
Ly

m%@mm%ﬁqmﬁwmw &
Ak (3) i
9 4 TEd
_1(2;' E (5) I T < R
3
(4) # 74. ¥ S S0 Foci o - g e
(5) S A = 27
60, ‘et i aTE R T’ TR I o1 € - 2; S e
(1) dATEAFGE o >
(2) oo g A fiRT | S ; -
(3) o UreHH FTT (F) I amfe
" amg 4 s A H T 5 I ey
5) T T & A |
(5) | 75. quﬁﬁ-mﬁm St
70. ‘mﬁ’wmﬂaﬁwaﬂaﬂﬁu—ﬁ%ﬁ%: b
(1) o + WY (1) E@ﬁﬁm‘{
s @) Y s g
(3) T+ WY (3) mmmé
(5) I A & ed 5 SR
HANTV / F2 2t e % feTe 2l | SPACE W/
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76. gRmm T ‘HegW e ST Tifa! H % 3= | 76. How many villages are approximately covered
SaHE & T fray TifaT @) wnfae fopan T 2 currently under the scheme ‘Mahara Gaon -
TN Jagmag Gaon’ in Haryana ?
i P (2) 4,200
(4) 6’000 (3) 6,500
©) " (5) Not attempted
ordteret farera & weiy § Frefatad we
7. e 77. Consider the following statements in respect
R foER FfTL of Motilal Nehru School of Sports.
(a) TETE, Hrfrea ¥ ferd ®1 (@) It is situated in Rai, Sonipat.
o T dATEd s (b) It is affiliated to CBSE.
gqgaaff Q HIF-91/Q HYT G e/e? Whicht gf the above statement/s is/are
correc
(1) (2) S (b) WA (1) Both (a) and (b)
@) AT (a) AR %’T (b) (2) Neither (a) nor (b)
Had (a) (3) (a)only
(4 e (b) (4) (b)only
(5) SR Tl o =ed (5) Not attempted
8. RN S T SHEE I F Fd e & | 18- What 1isttnzhe ap?r;);(limat.tet plercentagle tqf ruraiﬂ
2 2 population o e total population o
SR ? Haryana ?
/%) 50:% (1) 50%
{3: 2: ; 2)  45%
‘ o 0
(4) 55% & S
(5) SR TE & =R il
(5) Not attempted
79, T 3R uE 1 Faerg 33 % g wfes dwer (g , £
(e o 59 79. Bhainswal Kalan, famous for giving sportsmen
0 ferd & 7 to Haryana and to India is situated in which
\)}’ faart district ?
) T (1) Bhiwani
@ (2) Sonipat
A (3) Rohtak
(4) HTTA - (4) Karnal .
__45) FE A &1 AR (5) Not attempted
HANTY / F2 % BT % Te1u zenTe / SPACE FOR ROUGH WORK Page 17
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80. frfafad # ¥ FF-w W wrea wfean bl

et & fere s < @ 2
X e
2y Ve
Sas RaUHE
4 Tom
(5) S TRl < wRd
81. frafafed Heml W foem i |

(@) TEHT S (et e § 2
(b) e sty SR 7 feuq 21

SR & F-/ S F 2
(a) 3R (b) I

(2) T (a) AXAE (b)

(3) e (a)

(4) e (b)

(5) SR TR o =

82. Wﬁﬁﬂ?—mmmwwﬁ%?
) E
—/(277_@@
(3) R

(4) T
(5) SR T o =
83, RN forg o qof T4 17
1971 /
2) 1963 \
@) 1962 |
4) 1966
(5) SWAE 1 =
84. efeeon 3 fret Freret @ CER)
(1) 92 :
2) 94
o
90
(5) ST & e

80.

81.

82.

83.

| 84.

HANTV /F2
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e following places is | .

Which oneé of th
Hockey players ?

for Indian Women
(1) panchkula
(2) Shahbad

(3) Faridabad
(4) Gurugram .
(5 Not attempted

Consider the following statements.

(a) Masani barrage is in Rewari dist;
() Kaushalya Dam is in Pinjore.

Which of.the above statement/s s

correct ?

(1) Both(a) and (b)

(2) Neither (a) nor (b)
(3) (a)only

(4 (bjonly

(5) Not attempted

Which of the following is not a dance for:

Haryana ?

(1) Loor

@) Khoria
~ (3) Talghadi
(4) Phag

(5)  Not attempted

In wthh year H ;
an f
fledged State ? aryana was made as @

1) 1971
(@) 1963
B) 1962
@) 1966

()  Not attempted

HOW man V.
there in }gar;iizn?Sabha Constituencie®

(1) 99
) o4
B) &8s
4 9o
5)  Not attempteq



5. ﬁﬂﬁ[:@ﬂﬁaﬂ?
& gfaTon et F WA et Qe & AR
a2 A
(1) TS Ez)
S s )
(3) o<t 2T @
(4 TES s 6)
®) SR Tl & <ed
6. ﬁmﬁf@ﬁﬁ@ﬁmﬁﬂaﬁzﬁmﬁ
TEe? i
(1) T O
() fey o %
(3) T gona &
(4) oo ot il
(5) SRR o =ed &

87. ﬁmﬁf@aﬁ@:mwaﬁ?@ﬁwmﬁ

86. Which amongst t
network system of Haryana ?

W%@maﬂﬂ%qﬁgﬁﬁ 85. Who amongst the following former UPSC

H
a ana

Mata Prashad
Subir Dutta
P.C. Hota
S.K. Mishra

Not attempted
he following is not a canal

The Yamuna system
The Indus system
The Bhakra system
The Lift system

Not attempted

87. Which one of the following districts of Haryana
shares border both with Punjab and

W?W@WWW%? Rajasthan ?
(1) TER (1) Hissar
@ faw (2) Sirsa
(3) FuA '(3) Kaithal
4 Te (4) Jindi
(5) SR T o = (S) Not attempted
88. EREMN 1 T 9 FIA W &2 ' §
w | | 88. The State Animal of Haryana is :
A (1) Camel
L}/m . (2) Tiger
G (3) Black buck
o el (4) Elephant
HANTV / F2 7% @1l o foru Zener / SP. il s (2R
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89. frefafa § & #i . ¢ the following is not
=91 g YRYfe remen . Which amongst ! : ay
S r ) o - | 82 Haryana’s traditional attire ? '
("< (1) Daaman
(2) =R (2) Chorno
) e (3) Pagri
4 I (4) Chunder
(65) ST & ey (5) Not attempted
:s Bir Shi h Wildlife San.
Q0. R 4 90. Where is Bir Shikargar anc
i bk TSI STYIRY e ey & 2 located ?
(1) gl (1) Panchkula
@) SO (2) Karnal
(8) @ (3 Kaithal
4 Si= (4) Jind
(5) W TE RS (5) Not attempted
91. ‘Wit =%’ TEHR Fao i frad T e 6 91. What %s the one-time cash amount give
T SR E? the “Kirti Chakra” awardee ?
A %75,00,000 (1) ¥75,00,000
2) ¥25,00,000 (2) ¥25,00,000
(3) ¥51,00,000 3) ¥51,00,000
(4) <1,00,00,001 (4) %1,00,00,001
(5) ST A A - (5) Not attempted
92. fHHRIYST T STAfE & 2 e
= éﬁm g 92. Where is Chinkara breeding centre locat
c/(’l')/ e EEAL (1)  Morni, Panchkula
@ +F Rl (2) - Kairu, Bhiwanj
9 2 1
(3) foueh, FEad ) Pipli, Kurukshetra
(4) fear (4) Hissar
(5) SR <A T (5)  Notattempteg
93, ST Weiu e efarn H el e 2 93. Where is Indian Instit ‘ ‘
1) T ‘ ocated in Haryang o ute of Manage™
(2 FEE g Bhiwani
: ‘ Karn
) 8 ) Pan ;lk
zaF chkul
(4) 4)  Rohtax 3
(5) STl <A e i,
attem
HANTV/F2 ¥ PRl & o1 21/ SPACE FOR oy pted
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o 3 2 e el e e SR g i

4. 94. Two most important monum
fo€? ‘The LAT and the H ents of the State
forg o W fer € R R e V" Mosque” are
(1) FEa (1) Kurukshetra
2) SRR (2) Naurangabad
(3) THAENIR (3) Fatehabad
TS (4) Mahendragarh
(5) ST A7 = (5) Not attempted
)5. 39 S @l TEEr iy S e i e ®E | g5, Identify the place where Guru Gobind Singh
T ¥ WY g% o 98 52 fo o T 9 2 stayed for 52 days after the battle with Hill
Kings ?
(1) S e _
(1) Dhamtana Sahib
) RGN W@ WS
@ (2) Gurudwara Lakhan Majra
(3) TSRl ST T
. (3) Gurudwara Kapal Mochan
4)~ TEGRI SHEHI Hifed : :
o(/l/ (4) Gurudwara Damdama Sahib
W e
©) il _ (5) Not attempted
96. THITd =1 S9N I Fretared § § fehwh ste gt )
o ? 06. The Third Battle of Panipat took place
F between :
AL S S ANER e (1) Shah Alam and Muhammad Shah
() T iER g ST ST (2) Guru Gobind Singh and Aurangzeb
(3) R Te SR ARSI (3) Nadar Shah and Aurangzeb
(4) TR TS P! SR ST (4) Ahmad Shah Abdali and the Marathas
(5) TR S AR (5) Not attempted
4
97. Wmm.aﬁ?’—mﬁ? fafr e 91 %1 SHIST | 97, Which day of every month is celebrated as
e # afere’! % w9 H wAE S ? “Tithi Bhojan Beti Ka Janmadin School me
: Abhi »
a inandan” ?
] 1) 3t Tuesd
(2)/\ - (1) esday
; (2) 4th Tuesday
(3) UEAl HIGER
: (3) 1St Tuesday
(4) TEWHTER
(4) 2nd Tuesday
(5) S AR S e
(5) Not attempted
. HANTV/ F2 0 1 & f31U Zeer /| SPACE FOR ROUGH WORK Page 21
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o8. Wﬁqﬂfamﬁqﬁ,ngaqmwm 08.
8T (THESH-2030) wifiaet 53 § wfeon oo &
HI-TT T ¥ 7
(1) 3
(2) swEal
(3) wEem
( iEsn)

(5) ST < =R

00. RN T Tt Tk T AT - faeren Gve o & 99.
(a) 217 SR THR siferes oy 7 feen T &1
(b)  TEH T 1,800 Wfa Ag v oo S g |
S § ¥ FH-1/ o @ 8/E?

(1) () 3R (b)
2) AT (a) ARTE (D)
W(a)

(4) Ed (b)

(5) ST @l A =@

100. mwaﬁm@ﬁ.wg’rﬁ.) Fapd Frfarad | oo,
e R e HIfST
(a) SRATTH <ft T S FAE & Sttt

g AfF T
eree o ST S <, g & Sh.eE gL
3 a1fe B ‘
Wﬁ@aﬁﬂ-ﬁ/ﬁﬁm'ﬂﬁ%/%?
(1) (a) 3T (b) T
) 241 (a) AXAE (D)
3) F9d(2)
(b)
(5) :ﬁ??ﬁfé‘ﬂ?ﬁﬁ
.0o00"
o Tl 2 ToTT 22ITeT / SPAC
HANTV /F2
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s

e India’s Environment Rep,,
As per ,th rank of Haryana g, '
gustainable Developmen, (‘

jeving
?SCSEEB-ZOBO) ?
(1) 6th
(2) 8th
@ 1
(4) 3rd
(5) Not attempted

ollowing statements

sider the f
ok heme - a State Schey,

Widow Pension Sc
the Government of Haryana.

A woman of age 21 years and aby

eligible.
[t carries an allowance of 1,800,

()

(b)

Which of the above statement/s is
correct ?

(1) Both (a)and (b)
(2)  Neither (a) nor (b)
(3) (a)only

(4)  (b)only

(5) Not attempted

Consider the following statements about(

State Domestic Product (GSDP).

() GSDP of Haryana is more than th
Karnataka.

GSDP of Maharashtra is more tha"
of Haryana.

correct ?

(®)

(1) Both (a) and (b)

(2)  Neither (a) nor (b)

(3)  (a) only

(4)  (b)only

(5)  Not attempted
~00o0-
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